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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting guestions :

There are BIGHT guestions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in ail.

GQuestions no. I and & are compulsory and out of the remaining, THREE are to be attermpted
choosing af least ONE question from each section.

The number of marks carried by a question ! part is indicated against it.

Answers must be writlen in the medium authorized in the Admission Certificate which musi be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, iff considered necessary, and indicate the same elearly,

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a guestion

shall be counted even if attempted partly. Any page or portion of the page left bBlank in the
Question-cum-Answer Booklet must be clearly struck off.
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THUE A
SECTION A

Ql. (a) 7 FFE EE o ea F w=us 7 g B & s 9w gee 8, 39
YA HEETERA ® N 9, 364 Fetw o 33 o wed o eftas d9Em 212
o B | HIUHE ATYHINE H H UF F A ¢ 6 g% G4 T ATHH A
2 | 150 ufEl | forw u ouwk wied O sfmem () 2013 WAt sl
455 FRL 1 WS fawem 9 | 3k 3 g gfen wa E T oveus |
A o # agee yedd fEw R, W38 <Al § sl ) s =R,
= =t Faf w3 =26 7
[T faemor At givr & o § & 7 R
The manager of a hotel based in New Delhi reports that the mean
number of rooms rented out per night is at least 212 based on his
observation for the past several months. One of the corporate officials
feels that this number might be somewhat over-estimated. A sample of
150 nights produces a mean of 201-3 rooms and a standard deviation of
45-5 rooms. If these results suggest the manager has inflated his report,
he will be given a warning. At 5% level, what is the manager’s fate ?
[Mormal distribution table is placed at the end of the booklet] 10

(b)  TH S BH # UE 95 99 wmEe gmiElas YEeA 6 e 1 98H =5
faam & | 21 el A 3R B =1 v==m i g # 3 gufhg wem i aee
T UERe T @1 g 2 | A % T e e | w2 4,00,000 #ROB
% fou = 2,00,000 g0t | wftEdl =na ufd e AS fow = 100 3 B &
fou = 110 #0ft | 7w ufd s T 150 B |
(i) ek Reeu & o, age-wm g = Fai S |
(i)  Fr9rEd = FEE a0 F e fashey sET-atE gETE 23 7
A small firm intends to increase the capacity of a bottleneck operation
by adding a new machine. Two alternatives A and B, have been
identified and the associated costs and revenues have been estimated.
Annual fixed costs would be T 4,00,000 for A and T 3,00,000 for B.

Variable costs per unit would be ¥ 100 for A and ¥ 110 for B. Revenue
per unit would be F 150,

(i) Determine each alternative’s break-even point .

(ii) At what volume of output would the two alternatives yield the
same profit 7 S+6=10
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(¢) U T gieedwn, fwest deamn aaam veE i & fae sl fen mn
B, ™I I0UTE 3N B EH1 % B BY § ww) W gear & | gieedw gedi 24l
e 1 3 R Har % w9 § gye w9 g e Fma-Feio s sad
gfer it fae= Fifa |

A new software which has been designed for providing e-business
solutions can be sold both as a product and also as a service. Consider
two examples of software as product and service and discuss the pricing

and promotional strategy for the same. 10

(d) ¥ 3 wd qun sieTs WH & e A e vave Tl % ded |
N g 2 7 A St s 2fe Wi % g S 5 wied, HUBR,
fererron i e =amaw i gl sfEen e nfafafial 0 afEfe @
wee shifer | :

What are the differences in respect of supply chain management
practices between a brick and mortar firm and an online firm 7
Mlustrate by taking examples from Walmart and Amazon.com
encompassing supply chain activities of sourcing, storage, distribution
and retailing. 10

(e)  Fo=h! "Tiea o 71 fasmes sifiam et ssmom, 0-80 2 | 37 wifasa 6 o
T sifiem =i fawfam w0 6 s =1 9w w9 9@ & s @ w o
g B, 0-40 & | 75 w94 70 6 3 26 weand wEw E, @ @ w2
FINF Wi W & =5t Tl v s A 39 s g fashn 6 | o

The probability that a new advertising campaign will increase sales is
0-80. The probability that the cost of developing the new advertising
campaign can be kept within the original budget allocation is 0-40.
Assuming that the two events are independent, what is the probability
that the cost is not kept within budget or the campaign will not increase
sales 7 10
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Q2. (a) 9 UF DI TG HAGEH & THGE & AN GGE 9 FH BISH, ATTR TH
fafae sreaafa & fou Fam & st v B 7 39 afs = fifge a9,
TEqI W Ie9TeT |t @@ | wifEeA Y et TR A9 35 5Ey i 9 Hl AR
wiftrs W, Toamg & o e () S i S o safim e &
IeTeA i e uiasmEntt = w% & =l Tl = I gfis R
AN W & Fuiw & e o o ue | 39 9w s w1 % e s v
wm w0 & el ofies fifae & w8 il feadl O sgew wan &) W
Fraferfigs gmoft # femm = 3 .

T
aferel =1 FwEm TR 1 Ieaned (29)

10
10
156
15

16

mqmmﬁmmHg

0o | =1 | S [ S | e | O | B2

20

(i) Wl A witE |

(i) @AEE 3 yEUE & AF B W9 wA & g weehE aaeEe e
ferfira hifom

(iii) afE afmwl F 9= 10 9% 991 § AW, 9 I w5 Ieqeq
& 7
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You are the manager of a small steel mill and all your inputs except
labour are fixed in the short-run. You suspect that as the input of labour
increases, the output of steel will also increase. But you would like to
know more about the nature of this relationship so that you can predict
the output of steel associated with any level of labour input and use this
information to determine the optimal level of labour input. To achieve
this goal, you conducted an experiment in which the level of labour input
is varied for 8 working days. This is shown in the following table :

Table

Tons of steel
production
4

6

Observation Number of workers

10

10
15

15

16
20

m!-:m:n.n-n:-:bzn-t
08 | =3 | o | en | & | g3 | b | =

(i) Draw a scatter diagram.

(ii) Develop the predictive regression model after finding out the
values of intercept and slope.

(iti) If the number of workers is increased up to 10, what would be the
output of steel ? S5+10+5=20

by  Fofefes w Al Roafori ffe .

(i) HEE g
(i) TEETEA
(i) AfeE 2fEn

Write short notes on the following :

(i)  Cyber Security

(ii)  Cryptography

(111} Ethical Hacking S5+5+5=15
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(e) (i) IourEA 3N TEEH TEYE & W9 9T 3T B 7 SSTE =R HEEA § WE
it |
(i) Har wETEE @ wew sve fatmin sfmet o geem d ae e
TRy Hite Hisas & wwma w0 gsar @ | o, d w ge v aw
wre & @ i = ol & | s s wedi s efn et i
e A | U IR B HSA (ISR - I ) # i gE
Tafmin Tres (SEEm — geendt) § o e St |
(i) What is the difference between Production and Operations
Management 7 [llustrate with the help of examples.

{ii} Service operations often face more difficulty in planning than
their manufacturing counterparts. However, service does have
certain advantages that manufacturing does not have. Explain
service planning difficulty and the advantages, Compare by
taking one example from a service organisation (e.g. hospital} and
another from a manufacturing organisation (e.g. automobile).

H+10=15

Q3. (a) T HETT
XYZ wef wd s

T 2016 & wArY § smaw ymi, v wmfd wEwE, XYZ meie e
g ie, Wl el & serw % iy w3 wneft f aee # e
FH F fmg 4 faanfoml & wg e | 7 Aiffn gewrd 3= # annel w
FAU hae Wie] IR & @iEER & w9 # wOHt ot famtas Rt o e
o, Frfre wg annadl =1 anft o § 6 w2 o mn @ | Sl s AT
Hial W fa=n & gt o | Jifen % gua W wE S Wi g R
e Afvaw gia it ST 99 GYTSgdr 1 Y6 G |

XYZ wifq vd serE e

XYZ ®ia vd sewifes favssardt dug = v fawmr 2, =i
wifieft zewrel ot amg-ansnfa @t § fagmm R ) 9efE A
ahrl s e sifiga @9 g oft Sl & 15 T = aE d
aiff=os fammm seeeifem faum ot 2 | XYZ %1 2015 % ohA $a
AT £ 15,000 w0 o frad @ = 5,000 FE ffim o % o wEwm
et grn == fofw o | gl wEes fEaTREal 16 w=EE fawrn % e
frmfas for mn 2 | vl &1 319 stem A g wEuA E@we R S R
wavs = fraw s 8 AfE S # A s s = s w1
8 | Hahe i st wm aegei o dEnel @ weiim anfEs w9 @ o,
FOT v AP e e i #
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AT = 3

AT gfeead] e % T @ F fu, XYz # ard . o F
Tt gaTiEa w1 e sEvaEa 6 | 9 wie sgfdeais & e
F i 3 favemm e % wfafos e =) favam @ B o ang sEas
2 o a7 dfvas @@ o fmm = oney &

AfFa= Hiem

2016 7, XYZ 7 dftas ¥ W Faw sfewns uftsan sEvasa &
T OO % ®9 @ g@iemdt f oft | 3= smEr o afnfEes Aaee
gereiiee (dud.) fam, fm XYz & sowfee e @ ffadem &
Uh HIUA o T H 2015 H 39TRE e o an | e i 9 Saw faEeh widt B
Eiggi] 1 | M g 394 g o v Seeh o v = o oft, fm
& 98 soh Ieorgs weAt # # v W 33w s Bale | et w s
Hia XYZ g0 #fwEE e 9 | gget sy gam wn | gewem, Ood
gt v = g ufiend el @ @iy o) o et @ o tw d S
| Wy, F 3w & 9F o § wEeE (sEEeta) w5 wiea e w5
fem 3t ar o weft Sl wareEl & ot = o femg glaw § weeaiE
w1 e |

9 WE 4 3 TG TEaw § d uelw | d@us B a9 aeee
At g3 T gl % s vl 6 s F o e e o v
% Had H Yo % UTH gEell 44 arell senafi & o 97 @ A § fae
T=g® A8 A | 3w d § safuerar =@, e Frem, smnfiesa ik
g Hfza of |

i 4 H.u3. A wEue § g wwew & e e a9
& T gawd fam | fmg %eelt 3 9 Fae 39 e &= Bia R,
#few g amgf ovm 3 59 e W & R gt o ofien & el =
Fgnfaa Wt R | selifEdl, o= Theed aiht a9 w-aw e s guy
witegH! | WA a8 FH (F99) F1 90E 10% 9 18% @ | e gl
) gorn § wrg i wiiggd § W= w W 25% 8 40% T | qUm s
feaon 1 wmed wga +9 of | 39 FEEl % 9 S g9 e fE e a9
T FHFA1 R 7
(i) HE i oA s & v e T TR 7
(i} A a9 S w1 T e % fou s e # o

(iii) ¥ XYZ &1 uidrn % st syl s=uw saiem 4w fagm 2
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Case Study

XYZ Machine and Electronics

Early in 2016, Shekhar Sharma, Director of Supply Management
in XYZ Machine and Electronics, met his company's President at the
President’s request, to discuss reducing material costs. The meeting
centred on the company’s historical position as a buyer of only domestic
products due to constraints in government contracts, that had recently
been removed. The company could now consider global sources. The
meeting concluded with Sharma receiving authorization to explore the
cost-saving potential of global sourcing.

XYZ Machine and Electronics

XYZ Machine and Electronics is a division of a worldwide
conglomerate that specializes in precision machined products and
aerospace electronics. While largely government and defence oriented,
the company has one commercial aviation electronies division among its
15 autonomous operating groups. Total sales for XYZ during 2015 was
approx. ¥ 15,000 crores with over ¥ 5,000 crores being spent by supply
management departments of various groups. Supply management
funetion is divided among 15 autonomous divisions. Each has its own
supply management department, which reports to division management
but adheres to corporate policies and procedures. There is a relatively
small corporate supply management staff concerned with corporate
policy and common goods and services.

The Cost Heduction Objective

To maintain its competitive position, XYZ needed to explore all
possible ways to reduce costs. In addition to analyzing and working with
its domestic suppliers, Shekhar believed it was necessary at this time to
begin considering global sources.
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Global Sourcing

Until 2016, XYZ had only purchased globally as part of an offset
countertrade requirement. The other exception was the Commercial
Aviation Electronics (CAE) division, which had been acquired in 2015 as
a means of diversifying XYZ's electronics markets. CAE not only had
been buying from foreign sources but also had established a factory in
Singapore to source and manufacture one of its product lines. CAE's
offshore experience began before being acquired by XYZ. At first, parts
were purchased from Singapore and other East Asian sources. These
parts were then assembled in this country. Scon CAE began to buy
assemblies in East Asia and finally all factory operations were shifted to
their own Singapore facility.

When Shekhar contacted each of the other’s supply managers, he
was surprised to discover that each one had a collection of horror stories
of past attempts to establish global sources of supply and was unwilling
to try again. Most of these stories centred around problems of
communication, quality control, eredibility and understanding.

Shekhar again contacted the CAE supply manager to discuss
details of the Singapore operation. Not only did the Singapore factory
build a product line, but also the Singapore supply department sourced
components for that product line from throughout East Asia. Initial cost
savings from first buys including engineering, test fixtures and other
start-up costs ranged from 10% to 18%. Subsequent purchases yielded
savings in the 25% to 40% range compared to domestic sources. Quality
and delivery problems were minimal. Following that conversation,
Shekhar wondered what he might do next.

(i) What are the problems being faced by the organisation ?
(i) ~ What choices for starting a global sourcing programme exist 7

(iii) Would XYZ benefit from an international supply management
office in Asia ? S+ 10+56=20

(b) Tifoes vwim & At Ty SR 8 § 2o fifsw | Efes g & 3w
U W4 H 3 o o wee i 7 R i

What are the nine pillars of Digital India ? Explain. How are these going
to help in achieving the objectives of Digital India 7 Discuss. 7+8=15
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(¢) U Te = gan =l 4w gafiw ag @wens w1 A 9 % g6y
4 fored ure w0 R | S ENEn W aeE e & fom @me
Herramifas 4 U sz g W e & e qu wd ganed w0 wm
= w1 Fg =i = | ¥R U T e s e weee % e
# 4 @l wed w1 Fae e & i 20 fEe | ofea 52 wEed
i # | wafy, wsty awitea & fF g wfus sdwfal & S 6 g
2, 1 9 g S wrEn 3w = 5Ea 8 |

(i) wmeE w1 wtEd w5 8 @ wiiea = Fuffe s dm B
20 forz % waUe W =R SHEr ad, e weeaey vig S anen
Ieqs B Wl & |

(i) TmEE w1 wfEE w9 W 5w miEwa w ot Bufor s d@en B R
20 fire & wafy & 9A 97 9 sias s aman |

[$9 SO & O19 W] 9ed S 9o 2]

An organisation has been receiving complaints with regard to the
work-related stress problems being faced by young employees. In order
to address this problem, the organisation has hired a professionally
qualified counsellor who has been assigned the task of counselling the
yvoung reeruits. It is found that the voung employees’ arrival at the
counsellor’s office fite a Poisson distribution with an average of
5-2 employees every 20 minutes. However, the counsellor is concerned
that if too many employees need the serviees, a erowding problem may
develop.

(it  The counsellor must determine the probability that four
employees will arrive during any 20-minute interval, which could
create crowding problem.

(ii)  The counsellor must also calculate the probability that more than
four employees will arrive during any 20-minute period. 5+10=15

[Poisson distribution table is attached with this problem]
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Poisson Distribution

3.1 3.2 3.3 3.4 3.5 3.6 3.7 18 3.8 4.0

W

& | 00555 00808 0.0882  0.0716 00771 00828 00881 00936 00988 01042
7 | ooe4e 00278 00312 00348 00385 00425 00466 00508  DOSS1 0.0505
| oooss ooi11 ooize 00148 00168 001 00215 00241 00260  0.0208
g | 00033 00040 00047 00056 00086 00076 0009 00102 00116 00132

10 | 0.0010 0,003 i0.0016 0.0019 0.0023 0.0028 0.0033 0.0035 0. D05 0,053
11| 0.0003 0,004 0.0005 00005 0.0007 00008 00011 0.0013 0.0015 00018
12 | 0.0004 0,000 04001 0.0002 0.0002 000053 00003 0.0004 0.0005 o, (d0e
13 | 00000 0.0000 0.0000 0.0000 0.0001 0081 0.0001 0.0001 0.0002 0.0002
14 | 0.0000 0,0000 00000 00000 0.0000 .0000 0.0000 0.0000 0.0008 0.0001

4.1 4.2 4.3 4.4 4.5 4.6 4.7 4.8 4.8 5.0

0166 0.0150 00136 0123 0.0111 00101 0008 0.0082 0.0074 D.ooeT
0.0eTs 0.0830 0.0583 0.0540 00500 00462 0.04:E7F 00385 00365 0.0337
1353 01323 01254 G.1188 01126 0.1083 01005 0248 00894 00842
01504 01852 0,178 3.1743 01687 01631 04574 21517 1460 01404
0.1851 01544 01933 01817 0. 1858 0.1875 015848 Q1820 0.1788 0.ATEE

01600 0. 1633 0.1662 0. 1687 017048 01725 0.1738 01747 21753 DATES
0.1083 01143 0,119 0.1237 01281 01323 0.1362 0. 13598 01432 1452
00640 0.0GaE 0.0732 0.0rre 0.0824 00868 0.08914 0.0959 0.1002 01044
0.03:28 0.0380 0.0383 0.0428 0.04E3 0.0500 0.0537 0.057T5 00614 D.0E653
0.0150 0.0168 0.0188 00208 00232 0.0255 0.0281 00307 0.0334 0.0383

o~ B WS DM

10 | 0.0061 0.0071 0.0081 0.00a2 0.0104 0.0118 00132 00147 00164 0.0181
11 | 0L0023 0.0027 0.0032 0.0037 00043 0.0048 QL0056 DoooG4 0.0073 f.ooaz
12 | 00008 00005 00041 0.0014 00016 0.0019 n.oozz 0.0526 0.0030 0.0034
13 | oS0z 00003 ;0004 0.0005 0. 0006 Q.0007 0.0008 00009 00011 00013
14 | 00001 0.0001 00001 0.0 0.0002 Q.00 0.0003 2.0003 00004 00005

15 | O.0000 00300 0.0000 0,0000 .00 0.0001 0,030 0,000 0.0001 0.0002

1]

x | &1 52 53 T 5.6 6.7 5.8 59 6.0

0 | 00081 00055 0.0050 00045 00041 00037 00033 00030 00027 00025
1 | 00311 00287 00265 00244 00225 00207 00191 00176 00162 00149
z | 00783 00746 0OTO1 00659 00616  0.0560 00544 00509 00477 00448
3 | 01348 04203 01239 04985 01133 01082 01033 00985 00938 00892
4 | 04718 04881 01841 01600 01558 04515 01472 01428 01383 01330
s | 01783 01748 01740 04728 04714 01697 01678 01656 01632  0.1606
& | 01480 04515 041537 01555 04571 01584 01594 01601 018058 0.1806
7 | 01086 01125 04163 01200 04234 01267 01298 01326 01353 01377
8 | 00692 00731 00771 00810 00849 00887 00825 00862 00988 0.1033
8 | 00392 00423 00454 00486 00519 00552 00586 00620 00654  0.0668

10 | 00200 00220 00241 0.0282 0.0285 00303 00334 0.0358 0.0386 00413
11 | 0.0083 0.0704 00118 00129 00143 0LO1aT 00173 0.0180 0.0207 0.0225
12 | 0.0039 0.0045 00081 00058 00085 0.0073 0002 0.0092 00102 00113
13 ] 00015 00018 0.0021 00024 00028 0.0032 00038 0.0041 0.0048 00052
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Q4. (a) () 7= e IR wiE w1 & i F Wg ® 2 IeEen o e |
= Fifm |

(i) s w1 Rl e w2 owdh i g el &
ag=EA H W aten | waa 8o fime it ves famem 40 fimE
1 8 | et Wt fomm ol 4 fUeeft 64 @il & oy o anf=es
T # whfE o @ | s = omiaea & R wg st
88 ol @ srfies #m 2

(ST weA wwvt gitae & wia o #)

(i) ~ What is the difference between cluster sampling and stratified
sampling 7 Explain with the help of examples.

(i} A manufacturer of machine tools claims that the mean amount of
time required to assemble their top-of-the-line electric saw is
80 minutes with a standard deviation of 40 minutes. Data was
collected from a random sample of 84 past purchases of this
electric saw. What is the probability that the sample mean will be
greater than 88 minutes 7 S5+10=15

[Normal distribution table is placed at the end of the booklet]

(b) =R #AR e % e w=n o 7 3uw dena s (e, i g
Hheoa1 &1 giteg gifae 3 o & €amdt, dnedn gamEl & v s
y=ed A= | BRe oo wEEa = g £ ) oR osnest o One §
LR w e e R, @ sEen W fvls o % fo s wae
fermmofyr fom 1 2
What is the difference between data and information ? Introduce the key
concept of Enterprise Resource Planning (ERP) and how ERP can help
in managing organisational resources and operational planning. If you

have to implement ERP in your organisation, what will be the key
considerations for deciding on the system ? 3+5+7=15
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(e) (i) H7S g wElkE =@ w1 g sEgH] w1 @i w3 h aEegs
w4l Bl 8 7 39 e #, ABC Tayem @mas i wEea F8 S g 0

(i) U weA & fow anfds smw wmn & Fufor 0 SR s
(¢=-31T%) afmfoma & 2

(iii) U SHETS 94l & WIS HEEA B 90 B & &9 grfign uEel
i dm drm w A SR T I R, mdEd v e e
wrfiem 30 & 45 fimel % waa % wom § Rvemw qu %1 | §i sfer
F glieqor gftomm & . vEm, AEa 38 fe o ams faaem 3 i
Htgm, sfte 37 fime ofn wes feem 2.5 e o =ifis, sfem
37-5 fime iR o= famws 18 fime | s wefierl o & FReaswt @
aue i ? = Hifay |

(i) Why do items managed or procured by an organization need to be
classified ? How does ABC analysis help the organisation in this
regard ¥

(ii) What trade-offs are involved while determining economic order
quantity for an organisation ?

(iii) As part of an insurance company's training program, participants
learn how to conduct an analysis of clients’ insurability. The goal
is to have participants achieve a time in the range of 30 to
45 minutes. Test results for three participants were : Shyam, a
mean of 38 minutes and a standard deviation of 3 minutes;
Mohan, a mean of 37 minutes and a standard deviation of
2-5 minutes and Kaushik, a mean of 37-5 minutes and a standard
deviation of 1-8 minutes. Which of the participants would you
judge to be capable ? Explain. 5+5+10=20
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oW B
SECTION B

Q5. (a) et g et (wfaw) ¥ gem e f fGEew $ifw |
FAuH Tel! gR1 3 3w Y X ofd F o 2 2 oftew fifim R e
w.f. e g # o w58 ol ae ) wfEfem = gum o gea @

Dhiscuss the key objectives of the Public Distribution System (PDS). How
are these objectives being delivered by our existing system ? Examine
how efficient our PDS is and if it ean be improved by involving private
parties. J+d+d=10

(b) 3wl wfea s ifin B fafim 29 4 s = o =1 5w =20 & o
e wor swda St smmia Foe-Fafo w5 )
Mustrate with examples, how do MNCs set transfer pricing to take
advantage of differential tax rates in different countries. 10

(c) e (Rl i gla-da (¥fFew) & 70 e & 2w v St w1 A
e w o fafism sgmmt & feeen Fift | R bR &, w5
qur & foru snyer =91 39vmm g o
What is the difference between Strategy and Tactics ? Discuss the
various approaches for turning around a sick company. What will be
your approach for turning around Air India without going for
disinvestment ? A+3+d=10

(d) HEER FEE F gEe-anids fvenn & fm o sum & e Fif
3 T srRdea w1 F Fafor =60 2 s 9 w1 e = § B
s w1 g fifso |

IDiscuss an approach for macro-economic analysiz of the business
environment. How do you determine industry attractiveness ? Discuss a
framework for analyzing industry structure, J+d+3=10
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(e) Tt fosfim srdemaren v S0l &) v femefie ot sofesfm 2o 8
Tt i § fag =0 ) 9 = & 2, & 9 Rad 3 9w fGfie
wifignt 1 fademn Fifsg | 7 ff same B s A feEn 3 T Sifew =
HH HE H |

Discuss the various perceived risks for a company from a developed
economy planning to invest in a new project in a developing and
underdeveloped country. How do vou propose to mitigate these perceived
risks ? 10

Q6. (a) T Hyfew (FErie) qE wREH S 9 yEEd T 8 s 3m
o forearea =i 9 & d Tt 1 R sEEw foir R

Awwil 1 : Freores s
SEET 5615 A| B C D E
feh (= +irg d) 40 | 180 | 170 | 35:0 | &0
Fdfl FedEm T FEE wiheafiiht 6
- B 20 16 3 8

HE

80 | 180 | 17.0 | 35-0 | 280
AN % FmivE 6 G (= w0EH) | 7.0 | 180 | 130 | 100 | 200

40 | 120 | 90 80 | 150

zem gfg = (% ° 79) 160 | 180 | 80 | 50 | 20
Jeim emae, bt = a0 60 9.0 5.0 &0
FE %1 Fel AHY (T FUE H) 23.0 | 1220 | 84.0 | 53-0 | 730
=HEAS !"ﬂ'f TITHHEET, fasft =1 % 7.0 8-5 10-0 | &0 12-0
=T $E i 2397 HaOwE

e @ g e 00 | 100 | 40-0 | 25:0 | 50-0

w0 wvd uEwifEE % ffm swr o ogewies s @ 2 e 9w
(i) @@ A i) A AR TR w Rew sen e faod fe flg
ot o w6 for 9wt o o form o gomaet = gf=a e we s oy @
Tt | & fem W fafE (divest) foman s o e w9 % wm wmw #
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A conglomerate is operating in five business verticals and has reported
performance as given in Table 1 below :

Table 1 : Performance Data
Business unit A B C D E

Sales {in T crores) 4-0 | 180 | 17-0 | 350 | &0

No. of competitors operating
in same vertical

6 20 16 3 8

80 | 180 | 170 | 35-0 | 28-0
70 | 180 | 13-0 | 10-0 | 20-0
40 | 120 | S0 80 [ 15-0

Sales of market leaders
{in ¥ crores)

Industry growth rate
(% in value)

Industry profitability, % of sales 80 6-0 g.0) 50 &-0

Total size of the industry
(in ¥ ¢rores)

16-0 | 18-0 | 80 50 20

23-0 | 1220 | 84.0 | 53-0 | 73-0

Business unit profitability,
% of sales

&% of sales of the buziness
unit from its international 00 | 10-0 | 40-0 | 250 | 50-0
operations

990 | 86 | 100 | &0 | 12-0

The company is evaluating the different divizions in its portfolio and
would like to consider (i) the BCG and (ii) GE-McKinsey framework to
decide on which of these divisions to focus its resources and also which of
the divisions to divest, giving reasons why. 10+10=20

(b) woh afufimm, 2013 % w0 wgm sfmew € S FAEW gEEl, SO
- wfiemER, Fdite s Swefaed o e gua & gefa w2
What are the salient features of the Companies Act, 2013 that would

promote Business Initiatives, Corporate Governance, Corporate Social
Responsibility and protect investors 7 15

(c) HUT FEH WIEH =1 TE=H %+ & fon gaE = 6 fagem $ifag | =0
Fro 8 FF wn s & fow gy Iew S 949 B 7 O o & fafim wew
w8, T8 w91 wehar &, 30 ST wEae Seitaat s w7
Digeuss key considerations of identifying a joint venture partner. Why
do we go for JVs in business ? What are the various types of JVs that
can be formed and what would be their management challenges ? 15
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Q7. (a) Afvaw wA = o qE s F AR wwfEm wwnl 99 S, wmEEe
(e 3 snfids &1 wm s #ar 2 | g Seua SifEdt w amen
A o fore, wmas s fafim sl g € 2

Global firms face three possible types of foreign currency exposure
namely, Transaction, Translation (Accounting) and Economie. What are
the different strategies organisations can adopt to deal with these
exposure risks 7 20

(b) BER 9 FF FEW 3R dad § fa wen g vefas s e e e
i wEER d IEm ¥ w9 H Semn e | w2t ¥ Sge 2 e,
TORE, I 3 i % gEee & Al 3R smfeai ) e i | s o
AT T %1 7=l & Ty e i |

We have many industries and services managed and controlled by the
Government and run as Public Sector Undertakings. Discuss the
advantages and disadvantages of the government managing these
corporations, taking examples under each category. Also give your

recommendation, giving reasons why. 15

(c) aita wHifaal = & ? w0 wrw @ & =il ol siee gerie @ safis
wefifa 78 =t gt # 2 s oty e wen S g J fadsa fiftm

What are generic strategies 7 Why can generic strategies not deliver
above average performance 7 Discuss briefly, business strategy
development process. d+d+7=15

Q8. (a) TA.TH.UAZ. &% F F9AE oftura w7 Bt svdemaem § wRomm i
g F A f fadem fifse | ume § oo d des ) afg O s W
e ATEl 9T =S AiaTd 9Eel W IgE SHitay |

What is the current definition of MSME sector 7 Discuss the
contribution of SME sector in our economy. Mention five broad policy
initiatives that can help growth of SME sector in India. H+b5+5=15
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(b)  HTUNMF WEHAT T HHedAl i T2 hitoy | T8 e swn d@nea | afaendf
T I 0 TEEE 6l # 7 HaA Wed e amuEai 6 vEeE,
T s e 8 w0 E 0

Elucidate the concept of core competency. How does it help an
nrganisatinn to create competitive advantage 7 How do organisations

identify, develop and protect its core competencies 7 5+5+5=15

(¢) Torm o gos =uaR wREE o wemer fee @ & 2 e ey i siofea W
%7 us ity Tm % fawm 39 smowat & fEwa fifse, a9
s Afas wyfes (FreEiz) & w9 0 I R |
Why are Free Trade Agreements signed 7 What are their advantages
and disadvantages 7 Ihscuss the stages of evolution of a domestic
corporation to finally emerge as a global conglomerate. 5+5+10=20
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{0 < Z < 1.96) = 0.4750

v 4750

G,

Z

1.96 7
The Normal Distribution

z 0.00 .01 0.02 0.03 0.04 0.05 0.06 0.07 0.08  0.09

00 | COO00 00040 000D 00120 00iBD 00198 00239 00278 0038 00358
a1 00398 00438 00478 00517 00557 00508 00636 00875 00744 0.0753
0.2 | 00783 00832 00871 00810 00948 OO9ET 01026 01064 01103 01141
03 | 01179 04217 04255 04283 01331 01368 01406 01443 01480 01517
04 | 01554 01591 01828 01664 04700 CITIB 0472 D4B0B 01844 01879
0.5 | 04915 04850 01985 02019 020584 02088 02123 02157 02180 02224
08 | 02287 02291 02324 02357 02380 02422 02454 202485 02517 02549
07 | 02580 02611 026427 02673 02704 02734 027B4 0274 02823 0.2852
06 | D288t 02910 02939 02967 020995 03023 03051 03078 03108 03133
048 | 03158 03188 03212 03238 03264 03288 03315 03340 03385 03389
10 | 089413 03438 03461 0.34B5 03508 03531 03554 03577 03598 03621
1.1 0.3643 03665 03586 03708 0.3729 03748 0ATT0 02780 03810 0.3830
1.2 | 03848 03868 03886 03807 03825 09%d44 03962 02880 03987 04015
1.3 | 04032 DA04T 04088 04082 04090 04115 04131 04147 04182 O41TT
1.4 | 04182 04207 04222 04238 04251 04285 04278 04292 04306 04319
1 04332 04345 04357 04370 04382 04304 04406 04418 04420 04441
16 | D4452 04463 04474 04484 D4495 04505 04518 04525 04535 04545
1.7 | 04554 04564 04573 04582 04591 04589 04608 04616 04625 04633
18 | D4B41  D484D  O4B55 04864 D4ETY  DA4ETE D04EBE 04591 04890 04708
1, 04713 04719 04728 04732 04738 04744 04750 04758 04761 04787
20 | 04772 04778 04783 0D4TEE 04793 04798 04803 0M4BOS D4B12 04817
21 04821 04B25 04830 04834 04838 04247 04846 2 04B50 04854 (.4857
22 | D4881 D4BB4 D4BEE  D4BT1 04875 04878 04881 04884 DQ4BAT  0.4890
23 | 04893 04EDE OD4B38 04901 04904 04308 04208 04011 04013 04046
24 | 04918 04920 04022 04925 04027 04900 04231 04932 04034 04038
25 | 04938 04940 04041 04043 04045 04948 04548 04049 04051 04952
25 | D4953 04955 04056 04057 04059 04960 204981 04082 04963 04954
27 | D4965 04885 D4987 D4958 04089 04970 04571 04072 04873 04074
28 | 04974 04975 D4078 04977 04077 04978 04970 04978 04080  0.4081
2o | 04881 04882 04082 D4983 04084 04984 04985 0.4985 04088 04088
30 | 04987  0A49BT 04087 04058 04088 04080 04980 04083 Q4500 04080
31 | 04800 04991 D4991 04991 04092 04892 Q04902 04092 04803 040993
32 | 049083 04993 04004 04904 04004 04094 204904 04895 204008 O.4008
33 | 04905 04905 04008 04006 04005 045805 204905 040995 D459 049097
34 | D4987 04907 04007 04907 04097 04907 04%07 04087 04507 04998
35 | 04998 04956 04098 04998 04998 04998 04398 04009 04988 04098
36 | 04008 04908 04009 04990 04000 04900 2049090 04993 04008 04000
37 | 04980 04900 04008 04900 04900 04500 04900 204099 204998 04099
38 | D4990 D4900  D4009 04909 04000 04590 04900 04000 204908 04009
30 | DBDOD 05000 OS000 05000 05000 O0S000 05000 05000 0 CS000 O.5000
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